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����� ��	�
�����'���R

(A) 

�����	%�� (B) %-�m34-��
��%

(C) ��2������
�4- (D) ��
4-�	����%7��

74. ���
�#�c���K4-	�'%���%#���%�
	8	
�
����������
��	������y�.���� ��	�
�����&����.>�R

(A) 
�!��������	��
I���%���������%�F�.���

(B) 
���	���)�
�
Kz�������������${��
	�����'��	�.���

(C) �Q%_X-�	�'Q%��������������
�� ��	���%	��.���

(D) �%�X-(�K������)�
*�G��������n�_X-����'��	�.���

75. �"U	�5 V �M���.>�/R

(A) K�%��D�%�
	
�����3���3+,-���%��F��3� (B) ��.������.��%���%���%	�����(�#����(�
���2�

(C) K�%������
	
����K�%(�3�������
���	 (D) K�%������
	
����	2��2��M4N-�
	������k4-'���(	

76. $a�%� ��������T���	��*��%(V���.�P�3	�%.��.>�R

(A) 
4-� (B) '��4-%�	���,-� (C) '��%���%- (D) 24-���

77. *��
�	�M���.>�R

(A) �=	�	������3���3+,--���,--��=��&.�&

(B) ���Q%�����)�	2�����

(C) �M4=-3%�2013�����3�'�����)���,-(�����$X-��6������(��=*��	

(D) 
�!�������3���$�6�2���%�"#B��	�'Q%���.��2���,-O,-�

78. � 
�������
6�.�.>�R

(A) c��(�c�3����� (B) 2�,-��	�
���2���g�2�������

(C) K�%�(��g������� (D) $�%��M������������2��	.(�

79. T���&�
M� �����V�
��	��.%��������&��,-���.>�R

(A) ��'%��5���	v� (B) ��'%��5����	��&

(C) ��'%��5�'��4-%�	��
,-� (D) ��'%��5�U��
��%

80. ��m	�4-�
	�����
����&��+,-(�	��2013 �=
��,-3G��6>"8��	
���&(���R

(A) �.���K=�
��5�
�
e,-%���� (B) ��2���3���	�5�3�m3�3���	

(C) 
�
e,-%�����5�%>,-����#4-���	��� (D) �.���K=�
��5���2���3���	
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5�@�– 2�	�����&����D���

81. �'%� T+V� ���� ���3� ÷ � .><� T–V� ���� ���3� T× V� .><� T|V� ���� ���3� T+V� .>� ��>%� T}V� ���� ���3� T–V� .>� ���

48 +12|15}2 – 5���	�M���.��'��R

(A) 8 (B) 12 (C) 9 (D) 3

82. A, B, C, D, E ��>%��F ���d���)����%����.���%����
����\?�����3>X-��.:�/0� F, A �����=�%��3�
P����%��%�.>�/0�B, A �����=�%����
�����%

�%�.>�/0�A, D ����3�
P��+,-���(�.>�/0�C, F ��>%�B ����3(6�3>X-��.>�/0�A ����3�2h��+,-���(�E .>�/0�F �����+,-���(����>	�.:�R

(A) A, B (B) E, D (C) C, E (D) C, D

83. 
����
���G�����>	����.>�R

(A) 
,-
�%� (B) 
3�'�
,-�% (C) ��	�� (D) ��&%

84. 
	8	
�
��� !	������'��3���]���3��
��/0�
	8	
�
����������.(�
���G��6�	�/0

4 

6 

2 

4 4 

5 

5 

3 

? 

36 

64 

81 

(A) 25 (B) 49 (C) 100 (D) 16

85. 	(6��
����'��� !	�������$a�%���	������
�
�
	8	
�
����	�Y;-����+p-��/0

A, B, C, D ��>%�E,  �K(���������9�'��
�����(���6�)�.:�/0�B ����'��
�����D ����������.>�&���
���'���(�E ��������������.>�0

C, ��P6�'��
�����E ����������.><�&���2�'���(�A �������������.>�/0�C �����'��
�����B ����������.>�&���3�'��
�����E ��������������.>�/0

D �(	�'��
�����A �����������.>�&���2�'��
�����B �������������.>�/0

A ��������
���	(�'��
�����.:�R

(A) 7 (B) 9 (C) 10 (D) 12

86. %�.1����)���P�2����>�(���@(�.>����
	��������
������)�/0����
	���������
��%�.1������M����'���.:�/R

(A) ��@ (B) 6�6� (C) K�2� (D) 
���
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87.  !	�
6�.�����#B�	��%��.(���������6�	���%�/0

��	�����
�������2����R

(A) I�'� (B) 34-	 (C) �&C (D) 
���2�

88. ? 

    (A) (B) ���(C)      (D)

89. �.�������.1
�
����

B ��)�����A .>

A ����3�4-��C .>

E ����D K�2��.>

B ��)�3�4-(�E .>

3��2
<�D ��)����(|	�	(����>	�.>�R

(A) A (B) B (C) C (D) E

90. �
��‘VICTORY’ �����YLFWRUB ����c�������=�4-39�
�����'���.>�����‘SUCCESS’�������>�����=�4-39�
�����&�
'��R

(A) VXEEIVV (B) VXFFHVV (C) VYEEHVV (D) VYEFIVV

91. �
��P = 6, J = 4, L = 8 ��>%�M = 24 .>��������>	5���	83%�R�����&'.���'��M× J ÷ L + J = ?

(A) 8 (B) 16 (C) 36 (D) 19

92. 2	� !	����
�
�'
�
���G����������3��������&�/0

(A) ���&�4-� (B) 3�� (C) �������4O-� (D) 3(B����	
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93.

 
4 5 

20 9 ��

 
6 7 

42 13 �

 
7 8 

? 15 

(A) 64 (B) 105 (C) 56 (D) 120

94. �
��������)�10�&	�%(������3\.#�
���%�B������$�(�����('>%��(�����)������.�(���6����������>	5�����%�.��'��R

(A) %
���% (B) 3\.#�
���% (C) �������% (D) �
	��%

95.

 

�������
�
� �.�������

 

������
�


(A)

 

(B)

 

(C) (D)

 

96.

8 
2 

9 

? 
7 

13 

6 

5 

(A) 10 (B) 8 (C) 6 (D) 15

97. 
���������p=-�p-���

(A) ����
.�� (B) 24-�	'%

(C) 
����' (D) 
�~&��%�

Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook

Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook



98. �
�� A &��<�B  W4-�<�C '�F���B��D��K�'��������.>�����4A3B3A2 �
�������3%�3%�.>�R

(A) 2 (B) 4 (C) 6 (D) 8

99. 	(6��6�%���%|��]�����=.�
�
��'
�.>/0�6�%�����������2����(	�
���(� ���%��������	�.>/0�2	�6�%���=.�������
�!���F���%�$�

��=.�������.6�	��&����(	��������	�	.E�.>/0

(A) ZMYL (B) REQD (C) ANBO (D) VIUH

100. 
����>��%�����.�����.�����.>

(A) %(� (B) w�>� (C) #4-�,- (D) ���

101. X ��>%�Y�����	���Z�����3u��.:/0��
��Z, X ����
����.><��%����Y, Z ������@�	.E�.><�����Y���>%�Z ���M����83�I�.>�R

(A) ��@(��B��
��� (B) 3.	��B��K�2�

(C) K�(&(��B��6�6� (D) K�m�&(��B������

102. �
�����B�� ÷ �������B��2���4��������������3���
����&�
�����
	8	
�
�����(��%F����������>	�����?��.>�R

(A) 4 ÷  2 + 3 = 4 (B) 2 + 4 ÷  6 = 8

(C) 4 + 2 ÷  6 = 1.5 (D) 2 + 4 ÷  3 = 3

103. �
��T�����	V������T�����V���.��&�
<�T�����V������T&�V���.��&�
<�T&�V������T.%�V���.��&�
<�T.%�V������T3���V���.�

&�
<�T3���V������T	(��V���.��&�
<�T	(��V������T&�(	V���.��&�
<�T&�(	V������T���V���.��&�
������;-
���P���.�P�%.�'(�R

(A) ����� (B) .%� (C) 	(�� (D) ���

104. �	�_����6�	������;-�(���R

(A) �>%	� (B) ��	� (C) $+,-	� (D) ��>+,-	�

105. 
�
�'
�����������.6�	��&���CLASSIFICATION�������%������	.E�3	������

(A) FICTION (B) ACTION (C) NATION (D) LIAISON
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106. 
	8	
�
���������>	����
6@�TK�	V<�T�83�V���>%�T����(V������83�I�������������.>�R

(A) (B)

(C) (D)

107. 
���������p=-�p-�

(A) ��4N-��� (B) ������� (C) ^��%5K�4-� (D) 
�x-(

108. ��%����������>	������=.����(�#B�	����%�������%�%�	�����.(���%���\�����������=%����%�'��R
ab – d – aaba – na – b adna – b

(A) dbanb (B) andaa (C) dabnd (D) andad

109. 
���&=������.�����.��'�

(A) *�)�� (B) 6�+,-� (C) ���� (D) &(K

110. �
��%�����>%�!������3.������M��
��5�=�%���������	�5���	���+,-��.����%�3�����%�%.��B��
&����%�����)�;-����!����������
.	(
���%�3	�%.(�B(/0�!����
����
�����������%.��B��R

(A) �=�� (B) �"!6� (C) $a�% (D) �
�F

111. ���>	������%���
�
�'
��(	��'���
�<��?	(��B���Q%��%�����3(6��83�I�������.(���>%��%��������.>�R

(A) (B)

(C) (D)

112. �
��3(���.1����%�����
	��%�B�<�������	��������%�������>	����
�	�.��'��R

(A) �������% (B) ��'���% (C) 3\.#�
���% (D) 3�I��%
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113. ��	v����$a�%� �������%-�P6(���R

(A) ���
+,-�� (B) H�%�e,- (C) $a�%��e,- (D) ;-a�(�'+p-

114. 
	8	
�
���������$���6�	��&�������
���G�������
K�	�.>
 

���������������������(A)                 (B)                (C)                 (D)

115. 
���	��3�����������������]������*���b�	�3	����%��>%�����(�.><��
��
���3���������'������3����.>���>%�3��������(;-�����

3����.>���>%�����3���������3(6����
���3���.���R

(A) �(	 (B) 6�% (C) ��P6 (D) ;-�

116. �(�'2����\��������R���)�&'.��%��.(���]���6�	��/0

5, 41, 149, 329, ?

(A) 581 (B) 831 (C) 501 (D) 402

117. ����%��������
�	���������%����%.��.>���>%��6�	�������������.>�
������;-�'��,-�������+,-
�����������(;-����%�%.���.>���������M��

��%�'��R

(A) ����'��,-���������.���.:�
����.�P����6���&�
����2�����	�(&��K�'�	��������>��%�%.�/0

(B) �����+,--
������������B�&���%�$�.��W%�����;-��+,-������.:�/0

(C) ������������������'��������2��4O-X-����%���.>���
���'��,-�������;�-4-���%�������&�
/0

(D) ����6��6���������.1
�
	����&����.:/0

118. ���(�#B�	������K%��

C K : JF :: G T : ___________

(A) M N (B) O P (C) L M (D) N O

119. �'%�
����\a����)��Q%
I�3�'�	��^�����.>�;-��4-���\a�����
&���)�
@^���2�2�6�.>�����3+,-���\a����)�
@^���M���.��'(�R

(A) 12 2�6 (B) 10 2�6 (C) 8 2�6 (D) 6 2�6

120. ���(�#B�	������K%����

���������)�'
�������
I���'
������W+,-(�����.�B���________

(A) �(I(�'
� (B) �\?�(��'
� (C) �%��������'
� (D) ��(��'
�
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121. �'%�70�L�"M��98��(J��83(��(��%������6�
�	����3	����.:�����40�L�"M��12�
�	����
���	��
�4-%��83(��(��%�3	������'��R

(A) 102 (B) 112 (C) 132 (D) 152

122. 
��������	��%�1�
��J'��J�6�������������=G������3%�3%�950�'����6���3�6���.>/0�$�������K� 
����.>

(A) %
5
1

5 (B) %
19
5

5 (C) 5% (D) %
19
1

4

123. gJ�2J50� 
����
�����)��%������
����3�6	���%�
�	���������gJ�110�������K�.�����.>��B��g�J�1J75���)��%����3�6	���%�gJ�55

��)�.�
	�.���(�.>/0�
�	������������
���	(���
����B(�R

(A) 220 (B) 240

(C) 200 (D) �
	I��Q%��	.E�
�����&�������

124. 
���#�=�4-%������=G��50<000�g�
�.>/0�.%�����2������=G�����12j����(����(�.>/0��2�����3���2������=G��M���.��'��R

(A) 38,720 (B) 37,208 (C) 35,278 (D) 24,476

125. 1����50������K(���]������������>���M���.>�R

(A) 25 (B) 25.5 (C) 26 (D) 50

126. A<�B ��>%�C ���)���>��������25�����.>/0��
��A ��>%�B ���)���>��������28�����.>�����C ��)������M���.>�R

(A) 21 ��� (B) 24 ��� (C) 27 ��� (D) 19 ���

127. 
����%(�������%(��BC������ ?������.(�$a�%�����
�
�5������
�����.:��B�� ?�����'���$a�%�����2���������4-�
�
�&����.:/0

�'%�$�	��120� !	�������$a�%�����%�285������ �7��
��
�����$�	��
���	�� !	��������.(�$a�%�
���/R

(A) 60 (B) 65 (C) 75 (D) 85

128.
( ) ( )

?
187589

187589187589 22

=
×

−−+

(A) 4 (B) 766 (C) 402 (D)
388
201

129. 6�%����������)��.�3+,-(����3+,-(���]���������%���
&���18<�21���24������� ?��������K�'���	���%�����7�36�/0

(A) 9061 (B) 9583 (C) 9621 (D) 9987

5�@�– 3�	����������D���
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130. 
���	���I�%����)�
�������8 �
��J�(J���)��=%(�1�We4-����������%�(�.>��B��I�%������
��%(��2�
��J�(J���)��=%(�1�We4-�������

��%�(�.>/0�I�%����)�'
��M���.>�R

(A) 1 
��J�(J|We4-� (B) 2 
��J��(J|We4-� (C) 3 
��J�(J|We4-� (D) 4 
��J�(J|We4-�

131. 360��(J��83(�%��'�,-(���	�����	��83�2�����(�7��4*������������%���%	�����36�����e,-����(�.>/0�%��'�,-(���)�'
��.>

(A) 36 
��J�(J|We4-� (B) 72 
��J�(J|We4-�

(C) 80 
��J�(J|We4-� (D) 60 
��J�(J|We4-�

132. 250��(J��83(�%��'�,-(�4N->��������
��	�%���,-��
���L�"M�������15�����e,-������%���%�(�.>/0�%��'�,-(���)�'
��.>

(A) 48 
��J�(J|We4-� (B) 60 
��J�(J|We4-�

(C) 72 
��J�(J|We4-� (D) 64 
��J�(J|We4-�

133. I������)�����'�������%�'����A���>%�B�2�� ���%�.:�
���A ����L����B ����L����������'�	��.>/0�A���>%�B ���������	��������	����

M���.>�R

(A) 6 :1 (B) 8 :1 (C) 2 :1 (D) 4 :1

134. �
��35�W��+,-�������
�
�270�
��J'��J��	�&�21�
�	�����
�
�����7��.�������28�W��+,-�������
�
�180�
��J'��J��	�&�
���	��
�	��

����
�
�����7��.��'��R

(A) 22�
�	 (B)
2
1

17 �
�	 (C) 15�
�	 (D)
2
1

21 �
�	

135. 
������%('%�M�
�	4-����x��#��
P�3	����.>/0���I��W�4-������.�
���	(��#��
P-�3	�
'��R

(A) M + x (B) M – x (C) M
x30

(D) M2
x

136. 
���(���%������
����'�����������%�������,-��&����.>������.�484���J�(J2���@*��������'��3	����.>/0��'%�2����\a�����������%

������,-��'��������\a��������@*���M���.��'��R� ⎥⎦
⎤

⎢⎣
⎡ =π

7
22

(A) 161���J�(J2 (B) 616���J�(J2 (C) 425���J�(J2 (D) 216���J�(J2

137. �(���	����k�'�3:�����������5<000�g�
�&���
��
/0���I�%F����&��%�4j� 
������.>/0� 2
12 �����3���
���	��
�n�I	�
���'��R

(A) 6,000�gJ (B) 10,000�gJ (C) 5,500�gJ (D) 6,500�gJ
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138. g�
�2<500��%�12j���
������%����1���������6����\
9����&�M���.��'�<��'%����&�.%�;-����.��%�&��,-��&�
�R

(A) 309�gJ (B) 903�gJ (C) 909�gJ (D) 303�gJ

139. �
��75�����x% = 9�.��<�����x�������	�.��'�

(A) 16 (B) 20 (C) 12 (D) 18

140. 
��������	��%���	������	��%�����5�=G�����20j��
I�����
������%���.>��B����
�����=G���%�10j���)�;=-4-������.>/0

$�������K� 
����3��
P

(A) 10% (B) 12% (C) 8% (D) 20%

141. 
���6�	������2�$8�(���%�B��/0�.�%	�������$8�(���%�	��41j���� �7��
��
��B���.�5,580����������%�
&��.���'���0�����

�������)���]���
���	(�B(�R

(A) 31,000 (B) 30,000 (C) 32,000 (D) 33,000

142. 
���%�
��A, B���>%�C ���2�5�9������	��������3�P4-(�'2��/0��
��A ����K�'�2,500�g����.>����������%�
��
���	(�.>�R

(A) 20,000�g�
 (B) 17,500�g�
 (C) 12,500�g�
 (D) 22,500�g�


143.
12
5

13
3
1

2x
4
1

3
2
1

2 =+++ ��x�������	�.>

(A)
8
3

4 (B)
11
9

11 (C)
3
2

4 (D)
3
1

5

144. 
	8	
�
�������3���3+,-(���]������>	�.>�R

25
21

,
19
16

,
13
11

,
9
7

(A)
9
7

(B)
13
11

(C)
19
16

(D)
25
21

145. 6(	(������=G��16.00�g�
� 
��
��.'���B��/0�$������=G��W4-��%�14.00�g�
� 
��
��.'��.�.���'���/0��=G�����
���	�� 
���

��)����(�.12��R

(A) 12.5% (B) 11.5% (C) 9.5% (D) 8.5%
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146. 
�����������%����%����)��83�2����>%�6�>+,-�2�����5�4������	�����.>�/0��'%����%����)��83�2��15��(4-%�.>��������%��������@*��


���	��.>�R

(A) 225 m2 (B) 180 m2 (C) 200 m2 (D) 220 m2

147. 6�%�;-�@�
����>��	�����6�%������%���>,-��'����.:�/0�����������30�����e,-,�40�����e,-,�50�����e,-���60�����e,-�����>��	����

�=%��6M��%��'����.:�/0��
������>��	�����
���(�
3�������
�����B���>,-	����c����%�����������������
���	�������!6���$�(�
3���

�%���	��
���'��R

(A) 1 W�4-� (B) ��I��W�4-� (C) 10�
�	4- (D) 60�����e,-

148. ������]������������.a�������������16��B��$	����'�F	*���6400�.>�/0�$	�����W�a�������������.>��

(A) 64 (B) 400 (C) 464 (D) 1664

149. �.�;-��4-(����;-��4-(���]���3��2
�
&����75,�80���>%�135����K�'���	���%� ?������������3�����36�/0

(A) 1353 (B) 10003 (C) 10803 (D) 10800

150. 80���>%�90�����3(6��K�^����]���.>>��

(A) 81���>%�83 (B) 83���>%�87

(C) 81���>%�89 (D) 83���>%�89

151. %�����>%�!������)�$��������������	�����4�5�.>/0�;-.�����3���$	��)�$���������~�����	�����6�7�.���&�
'��/0�$	��)�$������

3(6����%�
���	��.>�R

(A) 2�����/ (B) 3 ����/

(C) 4 ����/ (D) $�����������������2��	.E

152. ������]�������������'�28�.>���>%�$	�������%�12�.>�/0���]����������'�F	*���.��'�

(A) 420 (B) 300 (C) 160 (D) 240

153. 
���L�"M��3�&�%������>���&����.>���>%���m4-����������������.>�/0�2��
4N-�����$���90�
�	4-��'��/0��
���.����	������%���m4-��

���&��������$���30�
�	4-��'���/0��
���.�L�"M�����	����%*���>���&��������$���
���	�������'���R

(A) 1�W�4-��40�
�	4-�/ (B) 2�W�4-��20�
�	4-�/

(C) 2�W�4-��/ (D) 2 W�4-��30�
�	4-�/

Testbook
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Testbook
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154. 
���
���
	������240�L�"M��'
�/0�2������
.��������)���]��������g������)���]���20��
I���.>���>%�3u�����)���]�����

��#�������)���]���20��
I���.>�/0�
���
	������
���	����g��.:�R

(A) 75 (B) 110 (C) 130 (D) 140

155. ;-.��'���%�
������]�������������'��3���3+,-(���]���������'�	�����38��
I���.>�/0�;-.���]�������������'�
	������/0

(A) 50 (B) 60 (C) 72 (D) 80

156. �3������X-�����3����(���6������.�����)���	(��������)����'�	(�$�����)�.��'(�/0�$���)������	������
���	(�.>�R

(A) 8 (B) 10 (C) 16 (D) 20

157. �������.���D�%���.%���)��(������������K�&	�������6���.���
��.'��.�����
�
���60|5�B���
�Q%M�� ?�����
��.'��.�����
�


��48|5.>/0�
���������
&������&	 ‘P’�
��.'��.�.>,�K�&	����)���'��g�
����.��'(

(A) 48 (B) 60

(C) 60���48�P (D) 12���48�P

158. A�	��
����#���
&������=G����50�.><�B������20j���K��%�3�6(/0�B�	���.(��#���25j���K��%�C������3�6(/0�C�	��$���40j

��K��%�D������3�6�/0�$���#��������=G��&���D�	��
�����.�.>

(A) � 147 (B) � 105

(C) � 85 (D) � 95

159. %�&�����	�����	�����15j�����	�
��%���,�35j�K��&	���20j�3Y6�����)�
�������L�����%���.>��B������36����%���.>/0

�'%�$���)�36��2,250�g�
� 
���.�.>�����%�&�����)�����M���.>�R

(A) 10,000�g�
 (B) 7,500�g�


(C) 5,000�g�
 (D) 2,500�g�


160. 
���L����%(�	��10�"M��4-��'�.tP�1,000�g�
� 
��"M��4-������K�������%(����B�� %
5
4

8 ���)�.�
	����3�6�/0�'�.tP�����
�����

�=G��.>

(A) 8,100�g�
 (B) 9,120�g�


(C) 9,000�g�
 (D) 9,020�g�
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